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The primary key must be:

(A) Unique

(B) Not null

(C) Both (A) and (B)

(D) Either (A) or (B)

Data independence means:

(A) Data 1is defined separately
and not included in programs

(B) Programs are not dependent
on the physical attributes of
data

(C) Programs are not dependent
on the logical attributes of
data

(D) Both (B) and (C)

An advantage of the database

management approach is:

(A) Data is dependent on
programs

(B) Data redundancy increases

(C) Data is integrated and can be
accessed by

(D) None of the above

yrIie Holl B AR

(A) Unique

(B) ¥4 T

(©) (A)3R (B) T

(D) 3T (A (B)

ST e @ 3 &

(A) eI 3/ | uReIftd foar mam @
3R PrisAr H anfiver T &

(B) UM sl @ Wifde fagramel w
fiR 781 2

(C) WU << @ difdd faRmamRl W
fiR 781 8

(D) =M (B)IIR (C)

SCIIY JEE gReebiv BT U o &

(A) 1 BRHA W R 2

(B) <1 Re<Hl 3¢ Il @

(C) T Tdhlgd & 3R &g HUHAl
gRT UgdT o 9ahdl &

(D) SR & F PIg 81
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The way a particular application
views the data from the database
that the application uses is a:

(A) Module

(B) Relational model

(C) Schema

(D) Subschema

The database environment has all

of the following components
except:

(A) Users

(B) Separate files

(C) Database

(D) Database administrator

Related fields in a database are
grouped to form a:

(A) Data file

(B) Data record

(C) Menu

(D) Bank

calculus

In tuple relational

P1 ® P2 is equivalent to:

4.

R e 9 o R oftdees s9
<Y ¥ ST Bl <Gl § 9l Yiterdher
ST &Rl € 98 ¥ a

(A) Hisgd

(B) HEIWRS HiScl

(C) wr

(D) SIS

ST iRyl # f=feiiad it ged
B & Ryar:

(A) SHIRTEAT

(B) 31T BIge]

(C) Sced

(D) <CHN YIS

ST W WHERd &l @ U6 W @
forq Fgre fovam ST &

(A) ST PrEel

(B) sl Rafs

©) ]

(D) 9@

cUd ReRMd beaidad H P1® P2

TR &

(A) ~P1UP2 (A) ~P10P2
(B) P1UP2 (B) P10P2
(D) P1U=P2 (D) P1U-P2
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8. In a relational model, relations are 8. TUh GdIRe Hied H Fael Bl DHal
termed as: STl &
(A) Tuples (A) O
(B) Attributes (B) T
(C) Tables (©) oo
(D) Rows (D) ifaat
9. Cartesian product in relational 9. RS SOOI H B oI % e &
algebra is: (A) T W AT
(A) A Unary operator B) T® T o
(B) A Binary operator .
(C) A Ternary operator © @ T e
(D) Not defined (D) R T
10. In the E-Rdiagram generalization 10.  3-3R NG § AHFIGRY §RT
is represented by: T 2
(A) Ellipse (A) €N
(B) Dashed ellipse (B) IIE IEHR
(C) Rectangle (C) omd
(D) Triangle (D) BrHTT
11. A logical schema: 11. U&d difded WM
(A) Is the entire database (A) WQUT S
B) Is a standard way (B) o D TD g ey #
oforganizing information into IR BN Bl T AMD el
an accessible part 3
(C) Describe how data is actually ©) a9 T 5 v W ST aaq 3
stored on disk 9 AT frar o 2
(D) None of these D) o W T
Series-D B.Sc. - B120201T / K-260 Page - 5



12.  To delete a particular column in a 12.  d§y # fox0 faoy @fem @ &M &
relation the command used is: o SR fooar S 916l BHlE &
(A) UPDATE (A) 37
(B) DROP (B) s
(C) ALTER (©) dofeua
(D) DELETE (D) e
13.  In E-R Diagram relationship type  13. 33X NG ¥ W UYGR & fhasd
is represented by: ST SITAT AT 87
(A) Ellipse (A) 3ISTHR
(B) Dashed ellipse (B) SIS 3CHR
(C) Rectangle (C)
(D) Diamond (D) W
14.  In E-r Diagram derived attribute is 14. 3R 3m@ H G~ faeryar @
represented by: yfaffea gnr fhar oirar &
(A) Ellipse (A) 3ISTHR
(B) Dashed ellipse (B) IS ISR
(C) Rectangle (C) 3
(D) Triangle (D) epror
15. A primary key is combined with a 15.  Uo yRIfA® Elg_\rﬁ ol Ue faeeh Elg_\rﬁ Cl
foreign key creates: Y SIrel ST &
(A) Parent-Child relationship A) T SeY O At @ 9
between the tables that .
connect them AT fGaT-—ret e
(B) Many to many relationships (B) e & 99 o 9 o qaH
between the tables that T S red &
connect them (©) aifoenl & 99 Sedd wed o
(C) Network model between the o= Fe @
tables that connect them '
(D) None of the above (D) SR # | Pl Tl
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16. A data dictionary is a special file 16. <ol s e favw wea & fonm
that contains: By
(A) The name of all fields in all
(A) I TRl § 9 e @1 M
files
(B) The width of all fields in all (B) T wrgell § Wil & ol AT
files (C) ol TRl # W eF I s
C) The dat f all fields in
©) e data type o
all files
(D) SWIa I
(D) All of the above
17.  Null is: 17.  Null &
(A) The same as O for integer (A) Trﬁq; & fov 0 & 99
(B) The same as blank for B) R 3 R Reg & wH
character _
(C) e & fow 0 & |9F IR g0
(C) The same as 0 for integer and
& fory Rad
blank for character
(D) T eI el
(D) Not a value B
18.  Which of the following is another ~ 18. ¥ # ¥ 3 HHAR IHE BT ]
name for the week entity? TH 27
(A) Child (A) 9l
(B) Owner (B) Hifeld
(C) Dominant (C) W4 drefl
(D) All of the above (D) SWREd ol
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19.  Which of the following is a 19. fy=fafed & 9 o4 SQL T [\l
comparison operator in SQL? 3TN &7
(A) = (A) =
(B) LIKE (B) LIKE
(C) BETWEEN ©) @
(D) All of the above D) SR gl
20.  Which database level is closest to ~ 20. &N ¥ Scldd R SWINGART &
the users? T BN 27
(A) External (A) =Y
(B) Internal (B) 3MAR®
(C) Physical (C) e K7
(D) Conceptual (D) FRE
21. The RDBMS terminology for a  21. U& Ufdd @ folu RDBMS el :
TOW 1S: (A) U
A) Tuple .
EB; Refation (B)
(C) Attribute © faRreT
(D) Degree (D) feur
22.  Which of the following is correct: 22. AW oM W W
(A) A SQL query automatically (A) TP THITA. TR ETford wY
eliminates duplicates J W &l ge] ot 2
(B) SQL permits attribute names (B) TEATE. Th 8w E Aser
to be repeated in the same _
relation T S A 3@:@ il
(C) a SQL query will not work if (©) 3 el R P 3 T
there are no indexes on the g @ OXLaSel. TR T el
relations Gl
(D) None of these (D) T | By el
Series-D B.Sc. —B120201T / K-260 Page - 8



23.  Which of the following are the 23. ffciRad § & &M A TWemi & o
properties of entities? g7
(A) Groups (A) I
(B) Table (B) diferdr
(C) Attributes (C) T
(D) Switchboards (D) Raaare
24.  DBMS helps achieve: 24. @ﬁ.'@ﬁ.@.@. TNl BT § Ace el &
(A) Data independence (A) Sl @dFdl
(B) Centralised control of data (B) s &I Eﬁ‘;ﬁw BRENI
(C) Neither (A) and (B) (C) I (A) T (B)
(D) Both (A) and (B) (D) THI (A) 3R (B)
25.  Key to represent the relationship  25. dIfeidrell @& &9 Feg @ 3 drell
between tables is called: Bl BEA o
(A) Primary key (A) TrIfEd ol
(B) Secondary key (B) WrAM® aﬁ
(C) Foreign key (C) fac=h aﬁr
(D) None of these (D) o 9 P TE
26. Relational Algebra is: 26. GdIWRD ONTONT
(A) Data definition Language (A) ST URMIET 79T
(B) Meta Language (B) #eT W
(C) Procedural Query Language (®) yfehITcHD T 18]
(D) None of the above (D) SWIE H ¥ Pls Tl
Series-D B.Sc. —B120201T / K-260 Page -9



27. An advantage of the database 27.  ScEd Yeed fﬁ&‘cﬁ‘ﬂ DI Tdh ol g
management approach is: ) ey W
(A) Data is dependent on
programs (B) <1 REeH! 98 oIl @
B) Data redundancy increases :
ECi Data is integrated and can be (©) < W € R @ wE
accessed by  multiple gRT Uga ol |l ©
programs (D) SWRIF 4 ¥ FIg Tal
(D) None of the above
28. In an E-R diagram an entity setis  28. TUd 3—3R INY H TP 35l IS @l a
represented by a: SR <917 e ©
(A) Rectangle (A) 3mgd
(B) Ellipse (B) 3ISHR
(C) Diamond box (C) BRI dfed
(D) Circle (D) b
29. In case of entity integrity, the 29. T®I3 FFedl & Al H, WRIHED FHoll
primary key may be: RISENIES
(A) Notnull (A) I CRil
(B) Null (B) T
(C) Both Null & not Null (C) 2t B a3} B T
(D) Any value (D) S 7
30. In an E-R diagram attributes are 30. Td 'sf—?:ﬂ? NG HfowwdRn @
represented by: yfcrfwiferg fpam S &
(A) Rectangle (A) 3mgd
(B) Square (B) T
(C) Ellipse (C) 3SR
(D) Triangle (D) SEaLl
Series-D B.Sc. - B120201T / K-260 Page - 10



31. In the architecture of a data base 31. Th scled RIed & afdcdor & a1ey

system external level is the: R BT R

(A) Physical level (A) IRIRG ®R

(B) Logical level (B) aifrd v

(C) Conceptual level (C) FaRe wR

(D) View level (D) WR

32. DML is provided for: 32.  SLUHUA ® v we fdar ST &

A) Description of the logical .

(&) P s (A) SS9 @ difbd R @
structure of a database

(B) The addition of new IGCEUI
structures 1n the database _ _ _

(B) Sci9d Ried # 8 ARl @
system

(C) Manipulation & processing of ST
the database _

(D) Definition of a physical (C) Scidd Pl XY 3R TR
structure of the database D) SoTRT Red @ e w8
system

qRHTT
33.  The architecture of a database can 33, TG @ MR B GRSl
be viewed as the # < O 96T B |

(A) One level (A) TP R

(B) Two level (B) a ®R

(C) Three level (C) T ®R

(D) Four level (D) IR ¥R

34.  Which one of the following refers 34, fy=fafed & 9 o9 Sced 9wl @
to the total view of the database el ¥ Dl Fefdd oedr g7

content? (A) IR® férfgg—cmw

A) Conceptual view BTy

EB; Physiclz)d view ®) &

_ (C) dfidRe g2
(C) Internal view
(D) External view (D) kA
Series-D B.Sc. —B120201T / K-260 Page - 11



35. The number of attributes in  35. & H U P G B HE A
relation is called as its: (A) FIfSHferd
(A) Cardinality B) &
(B) Degree ©) e
(C) Tuples
(D) Entity (D)
36. The term “SQL” stands for: 36. e "THo o Tefo" &l 3 %
(A) Standard query language (A) AF® FIT T
(B) Sequential query language (B) Hﬂ?ﬁﬁfﬁ RIS 7T
(C) Structured query language © e e
(D) Server-side query language D) RS T
37.  In SQL the spaces at the end of the 37.  THFJUA ¥ RgT & o H Raq wH
string are removed by function: HM gNT gl feU o &
(A) Upper (A) ST
(B) String (B) Rgw
(C) Trim ©) £
(D) Lower (D) e
38.  Which of the following commands 38.  see™ # Rl N oFed @ el W
is used to save any transaction q 2o & forv = & 9§ 59 oHis
permanently into the database? T SYIRT R ST 7
(A) Commit (A) Commit
(B) Rollback ®) SN
(C) Save-point . _
(D) None of the above (© e e
(D) $TH A ®Ig W T
Series-D B.Sc. —B120201T / K-260 Page - 12



39. Create table employee (name 39. table employee U (name varchar,
varchar, 1d integer) what type of id integer) T8 {9 YHR BT B 7
zz;en;)e;[t Lls this? (A) DML
) DDL (B) DDL
(C) View © View
(D) Integrity constraint (D) SESar are

40. Which one of the following 40. fHfRad & 9 b9 dHe @1 WA
command is used to delete the foefy anferar # H\Iuj\dl ufdd B geM @
existing row in a table? foru foam ram 22
(A) Delete (A) fierT
(B) Update (B) e
(C) Insert (C) ST
(D) None of the above (D) T A P A T

41.  In the relational table, which of the ~ 41. HegWRS diferdr ¥, F=faRed 4 9
following can also be represented foRy “faUvar’ wes gRT W <@l o
by the term “attribute”? HehaTl 87
(A) Entity (A) DU
(B) Row (B) Ufdd
(C) Column (C) ®ieM
(D) Both (B) & (C) (D) (B)3R (C) &M

42.  Which one of the following is a  42. f=foRad & ¥ oH & UOR &I <7
type of Data  Manipulation ﬁﬁfﬂﬁ?ﬁ FHlE 27
Command?

(A) Create (A) Create
(B) Alter (B) Alter
(C) Delete (C) Delete
(D) All of the above (D) SWRIEd ol
Series-D B.Sc. - B120201T / K-260 Page - 13



43.  Rows of a relation are known as  43. U& Red @ Ufdqai o 7 o W
the LECIEINCIGINS
(A) Degree A) f&h
(B) Tuples (B) TUN
(C) Entity (C) T
(D) All of the above (D) R & i
44.  Which one of the following is a set 44, fr=faRag & 9 i 9@ U Rate &I
of one or more attributes taken fafdre ygam & fou w:i%—cﬁ Wy q fou
collectively to uniquely identify a MU TS IT A fIemdme & e e
record? 27
(A) Candidate key (A) Candidate key
(B) Sub key (B) Sub key
(C) Super key (C) Super key
(D) Foreign key (D) Foreign key
45.  The tuples of the relations can be  45. JseN & U oH @ T 9hd ¢ |
of order. (A) AR
(A) Any (B) @&
(B) Same
(C) Sorted © #Hg
(D) Constant (D) <R
46.  To which of the following the term  46. "SI0’ vg fHfaRad § 9 foaw
“DBA” referred? HaferT g ?
(A) Data Bank Administrator (A) SIel o yemd
(B) Database Administrator (B) ScN TINI®
(C) Data Administrator (C) T WoING
(D) None of the above (D) T ¥ PIs 1 &l
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47.  Which one of the following refers  47. fAHfoRad ¥ 9 ®H 'Sl & IR § eI’
to the “data about data”? Pl AT PRAT © 7
(A) Directory (A) REEE]
(B) Sub Data (B) Y eI
(C) Warehouse (C) ™
(D) Meta Data (D) #eI s
48. A Database Management System  48. SCldd Forc RRed @ UoR
isatypeof  Software. H_ |MCdR B
(A) TIt1is atype of system software (A) B TP YBR &1 Ri<H RIED
(B) It is a kind of application 2
software (B) T8 UG oXE Bl TAIBI HTEaR
(C) It 1s a kind of general 3
software (C) TE TF T P A AR 2
(D) Both (A) and (C) D) (A)3R (C)ari
49.  The term 1s used to refer to 49. g9 Usq Pl TRINT T Ufed ® i
a row. SR B forg foar ram 2|
(A) Attribute (A) faemar
(B) Tuple (B) Tud
(C) Field (C) Wiee
(D) Instance (D) SN
50. A in a table represents a 50. T& el S *;Lc'ui 7 TUh dqe & 99
relationship among a set of values. eer @1 g axar 8
(A) Column (A) ™
(B) Key (B) @oll
(€) Row (C) dfdd
(D) Entry (D) T
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51. If you were collecting and storing 51. 3fe oo o Wid WUE & R H

information about your music SR Tha 3R GUEld &) & 9, ol

collection, an album would be U T @ (n) T
considered a(n)
ST |
(A) Relation N
(A) wEd
(B) Entity
B) 9%
(C) Instance ®)
(D) Attribute ©
(D) faRreq
52. Which of the following gives a 52. ffafeq & 9 @9 Ufves w9 9
logical structure of the database ST @l difbd AT <l 27
graphically? (A) BT ARG
(A) Entity-relationship diagram
(B) TP 3N
(B) Entity diagram
(C) STIed 3IRE
(C) Database diagram
) ) (D) WU Y NIGIES
(D) Architectural representation
53.  Drop Table cannot be used to drop 53.  SfY <A & ST qreT gkl
a table referenced by a Tefig arfelerl @l Blsd & folu =gl
constraint. foar ST | 2|
(A) Local key (A) WY gHoll
(B) Primary key (B) 9IH® EI?\I?[
(C) Composite key (C) |5Y doll
(D) Foreign key (D) facel goit
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54. The attribute AGE is calculated  54.  fogrsar AGE il 0T
from DATE OF BIRTH. The DATE _OF BIRTH® @ ol 7|
attribute AGE 1s : fa9yaT AGER:

(A) Single valued (A) Uddl Hegdrd
(B) Multi valued (B) dg FeudH
(C) Composite (C) I9U

(D) Derived (D) I

55.  Which of the following can be 55. <l JUBRY A Tl AR THGRI @I
used to extract or filter the data & il a7 fhoey o & forw foer &
information  form the data 3 RraET STANT fRa o FEar 27
warehouse?

(A) MR ARl aifova
(A) Data redundancy

(B) seT Raadl ot
(B) Data recovery tool

C) eI AT
(C) Data mining ©
(D) Both (B) and (C) (D) (B) SR (C) 3

56.  Which one of the following given ~ 56. f=ifeiRad & fbq @M H wvaa: FfS
statements possibly contains the 27
error? (A) empidd * T W& empid =
(A) Select * from emp where 10003:

. ;n;pld: 10093; ; (B) empid ¥ THIS & 999 B gl
t
@) Select empid fiom  emp erpid - 10006
re empid = ; :
WheTe emp! ’ (C) empid¥ empiddT T N
(C) Select empid from emp; _ - _
(D) Select empid where empid = (D) empid T 3 _ Vel empid =
1009 and Lastname = 1009 IR aif ™=
‘GELLER’; ‘GELLER’;
Series-D B.Sc. —B120201T / K-260 Page - 17



57. Data warehouse architecture 1is 57. STl TIRESY MMfdhcaR W ARG &
based on: (A) SIELTATE.
A) DBMS
) (B) JRSLIUATH.
(B) RDBMS

C g Uel.
© soL (©) TEFTA
(D) ORACLE (D) 3@

58.  Which of the following key is  58. <S¢l W USH®H oF] 89 W Sl @
required in to handle the data when e & fow =1 § ¥ o @ qol
the encryption is applied to the B amaeEa 2 2 afy SFH%W
data so that the unauthorised user _—

SYANTHAl ST T 781 Ugd Feh?
cannot access the data? _
(A) TrIfEd ol
(A) Primary key
B) 31f&%d gull
(B) Authorised key ®) N
(C) Encryption key © 3 Elg_\rﬁ
(D) Decryption key (D) fefoeer EB_"ﬁ

59.  Which of the following is the best ~ 59. fy=fofed # ¥ &9 & I & ¥
way to represent the attributes in a faoryamen @1 ufaffc e &1 qe
large db? 3T TSI §?

(A) Dot representation (A) Sl yldFEe
(B) Concatenation (B) S
(C) Relational-and (C) TITRG—3IR
(D) All of the mentioned (D) T RIIECR]
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60. In which of the following formats 60. Sc9Y Huvie Red ¥ sar @f f

data is stored in the database ¥ frd oie § R foar oy 27
management system? (A) R
(A) Image B) T
(B) Text
(C) dfere
(C) Table
(D) U™
(D) Graph

61.  Which of the following is the 61. FHfRId ¥ ¥ TN Fo9 R ST

oldest database model? Aied &7
(A) Relational (A) VRS
(B) Deductive

(B) TS
(C) Physical

(C) i
(D) Network

(D) *Teg%

62. A collection of data designed to be ~ 62.  fafi=f ATl gRT STINT fv 9 & forw

used by different people is called fSTmes fdu U ST & WU # a/an
a/an: e ol
(A) Organization (A) oA
(B) Database (B) Sced
(C) Relationship (C) ddyg
(D) Schema (D) HHT
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63. To obtain the structure of an  63. Oracle TP B WA UK IxRA &
Oracle table, the command to use o ST e & forv duie &
Is: (A) R [qferdT 1 7]
A) STRUCTURE [Table Name
) [ ] (B) dU [aiferdt &1 ]
(B) DESCRIBE [Table Name] _ _
(C) ST @ qUH X [clferdl @
(C) DESCRIBE STRUCTURE
1]
[Table Name]
(D) DESC TABLE [Table Name] (D) [ ]

64. commands in SQL allow  64. SQL # HHIS e B IR
controlling access to data within STl TH Ugd @ FRIT = @ Gﬂﬂﬁ
database. @

(A) Database (A) SCe

(B) Data (B) eI

(C) Data control (C) eI fa
(D) All of the Mentioned (D) 41 JcetlRad

65. A table that displays data 65. U dlfeldl ol Sel dffcRe UeRid o
redundancies yields 2, foqerfaat SO~ ol |
anomalies. (A) e

A) Update
(A) Up B)
(B) Insertion
(C) &M
(C) Deletion
(D) 41 JeetlRad
(D) All of the Mentioned
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66. Identify the criteria for designing
database from the point of view of
user:

(A) No redundancy

(B) No inapplicable attributes

(C) Uniformity in naming &
definitions of the data items

(D) All of the Mentioned

67.  The relational model feature is that
there:

(A) Is no need for primary key
data

(B) is much  more data
independence than some
other database models

(C) Are explicit relationships
among records

(D) Are tables with many
dimensions

68.  Which of the following statements
is not correct?

(A) The primary key must be
unique for a given table

(B) Specifying a zero (0) for the
lower bound for the
association multiplicity on a
class diagram indicates that
the item is required

(C) Specifying a one (1) for the
lower bound for  the
association multiplicity on a
class diagram indicates that
the item is required

(D) Most databases allow
multiple records that are
identical

66.

67.

68.

ST & SReHIT W SR feug

IR B HFCS DI UG DY

(A) B AIfRF &

(B) ®I$ IJUIa 0T el

(C) T 7l & THGR AR IRHTSIRI
H UGyl

(D) W ScoilRad

SRS Hiee fa9wdr ¥ & fo agh:

(A) wRIfd  @ell Se @ g
AT 8T &

(B) B 3 ScII| HAed $I ol H
95 I ST WA @

(C) ferEl & 91 W Fay 8

(D) S MM dlell < &

frfoRad & 94 &9 W $oF W el

2?7

(A) < TS et & fog wrifis gl
3Ifgaa gl A1ey

(B) b M NG W THAIRCIH
ggeral @ forg faell A & forg
¥ (0) ffde & 2 a=ar @
f& 3geq & TIvIhdT 2

(C) W T ING W TR
ggerd & oy et 991 & forg
1% (1) e o= 3R axar @
f& 3geH & TIIhdT 2

(D) SIR® ST Th O Py Rbre
@ Al < B
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69.  Which key accepts multiple NULL
values?
(A) Foreign key
(B) Unique key
(C) Primary key
(D) None of the Mentioned

70.  What is true about Unique and
primary key?

(A) Unique can have multiple
NULL values but primary
can’t have

(B) Unique can have single

NULL value but Primary

can’t have even single

(C) Both can have duplicate

values

(D) None of the Mentioned

71.  Which of the following is not a
key in SQL?
(A) Primary
(B) Foreign
(C) Alternate

(D) Secondary

69.

70.

71.

HF W gl UHEE NULL A9

WHR Bl 82

(A) face gof

(B) afgda gl

(C) e ol

(D) Sl 3 | g Tl

Unique 3R Primary key & aX H @I

w4 7°

(A) g § ®$ NULL 99 &
qhd § offed wrfie § o8
A

(B) & @ RiTd NULL deg &
Rqebell & cfebd orgAad # Rrer ot
el &1 el @

(C) T H Sictae A9 B Aad &

(D) Scalfgd # 9 Ilg el

7 § & SQL # Key 78 &7

(A) TS

(B) faceh

(C) dBfcad

(D) reafie
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o

72. A key is a minimal super ~ 72. U qoll Uh FATH G
key. zg—\,‘ﬁ =
(A) Primary (A) TR
(B) Foreign ®) f vof
(C) Candidate
_ (C) THIGaR
(D) Non-Prime
(D) IR WM
73.  How can a SQL developer add a 73. SQL eI fodl 29 W Tdh ?Ig_\rﬁ
key on a table? DY SIS ghdl 87
(A) While creating a table (A) e T T
(B) With Alter table command (B) difeex 2aq S S W
(C) With SQL server Properties _
(C) SQL 9R vl fdel & |
window
, (D) 41 JeetlRad
(D) All of the Mentioned
74.  Which of the following is not a  74. 79 ¥ § @9 W afcidr & W&y 8
restriction for a table to be a & foru ufcrder =t 27
relation? (A) aferdr & el ¥ v & 7 &
(A) The cells of the table must ;
contain a single value o o e _
(B) Dl gfaftcar v
(B) All of the entries in any
& UBR I B MY
column must be of the same
kind (C) DI BT A< AT ST A1y
(C) The columns must be ordered (D) &=t aferey § o8 W <1 dfeadi
(D) No two rows in a table may A TEI & Febel! |
be identical
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75.  Every time attribute A appears, it  75. & IR foU¥aGT A Udhe BW B, IS
is matched with the same value of e B & 999 99 ¥ ¥ @l g
attributeB, but not the same value V—_ C B I 1
of attribute C. Therefore, it is true

9oy, I8 9 ¢ f:
that:
(A) A ->B (A) A->B
(B) A->C B) A->C
€ A->(B,0) € A->(@B,0)
(D) (Ba C) > A (D) (Ba C) > A

76.  Anomalies are avoided by splitting ~ 76.  3muRoMe Gl @ by deEl N
the offending relation into multiple foifora ove foRgafoal | 9= o7dr 2
relations, 1s also known as: 3@[ & Wy A A S oy &

(A) Accupressure
- (A) THERR
(B) Decomposition
. (B) 3fHecH
(C) Precomposition
(D) Both Decomposition and © TCT
Precomposition (D) sTHe 3R TCT CREl

77. In a given relationship R, if an 77. Hdl fU U ey RH, IS U GEING]
attribute A uniquely defines all AT T fomaRt o fafte w7 9§
other attributes, then the attribut A TR Bedl & dr R A W T
is a key attribute which is also A 3 R Eg_\yﬁ & w7 & @
known as the key.

— T ST & |

(A) Candidate

: (A) SRIEAR
(B) Join
(C) Functional (B) i &
(D) None of the Mentioned (C) PHIHD

(D) Scalfgd # 9 I3 el
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78.  Every constraint on the table is a  78. Table TR Yd aFI dlfCidl &1 dlfdd
logical consequence of the table’s: g &
(A) Fourth normal from (A) IR R
(B) Fifth normal from (B) UGl 9T WU
(C) Domain/key normal from (C) W/ il AH WY
(D) None of the Mentioned (D) SeellRad H | DIg el
79. A table is in BCNF if it is in 3NF  79.  U& diferdl SLHITATH. & § X a8 3
and if every determinant is a . ¥ T R I e MuRe @
key. S Eﬁ_"ﬂ gl
(A) Dependent (A) i3
(B) Normal (B) S
(C) Candidate (€) FHGar _
(D) Both Normal and Candidate (D) w IR G
80.  Every Boyee-Codd normal form is 80. TS Boyee-Codd dMHI=I ®Y Ll
in: (A) UT HH WU
(A) First normal form (B) I AR U
(B) Second normal form (C) RRT AR
(C) Third normal form D) R & @
(D) All of the above
81.  4NF is designed to cope with: 81. 4ANF® 3™ fAued @ forv feamsH
(A) Transitive dependency foar T 2
(B) Join dependency (A) Fpdd fdvar
(C) Multi valued dependency (B) Ay 3 e &
(D) None of these (©) T FeE A
(D) T & 3% Tl
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82. Prevention of access to the 82. 3FIE§EI SRR R Sced dd
database by unauthorized users is U D DA Bl Pl ST &
referred to as: (A) R

A) Integrit
() Integrity (B) SeqEaT
(B) Productivity
: (©) g
(C) Security
D (D) fdegeirgd
(D) Reliability
83.  Third normal form is based on the 83. TR AWM= w9 I 3GERM
concept of TR ATEMRT B |
(A) Closure Dependency (A) 9 TR
(B) Transitive Dependency (B) FHHEG iR
(C) Normal Dependency (C) 9™y TR
(D) Functional Dependency (D) PIIHD TR
84. A relation is in 2NF if: 84. UDH HIY 2NF ¥ g afe
(A) All the values of non-key (A) R—gon fRwaRl & W T
attributes are dependent fully I\ﬁ e J IR e W Rk
on the candidate key 5 ?

(B) Any non-key attribute that N &
are dependent on only part of (B) SRR _aﬁ
the candidate key should be SICEIN Eﬁ_"ﬂ $ P T W
moved to another relation PR 2 SU gAY He # of SR
where the partial key is the WM ARy el e ag—\;ﬁ
actual full key - Tﬁ T 2

C) It must be already in the INF ” :

©) Y (C) 7 Teer ¥ & INF ¥ 21 71y

(D) All of the above

(D) SWIa I
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85. Consider the schema R(S,T,U,V) 85.

and the dependencies S—-> T, T —
UU->V,V-S
Let R ={R1,R2} such that RINR2

=®. Then the decomposition is:

(A)
(B)
©
(D)

86. If one attribute is determinant of 86.

Not in 2NF

In 2NF but not in 3NF
In 3NF but not in 2NF
In both 2NF and 3NF

second, which in turn 1is

determinant of third, them the

relation cannot be:

(A)
(B)
©
(D)

87. Which functional dependency  87.

Well-structured
INF
2NF
3NF

types is/are not present in the

following dependencies?

Empno ->EName, Salary, Deptno,
DName
Dept No -> DName

Emp No -> DName

(A)
(B)
©

(D)

Full functional dependency
Partial functional dependency
Transitive functional
dependency

Both (B) and (C)

WA AR (TE, &, g d) &R R
- -5 - A >WR
ffaR @ | gl R ={R1L,R2} B
fPR1NR2 =P T 3TEeA &

(A) 2NF # &I

(B) 2NF ¥ oifé7 3NF H 7Tl

(C) 3NF # ofdd 2NF # 7&i

(D) 2NF 3R 3NF qHI H

It ve R R @1 ke g o
qecl # RN @1 (uRe §, a1 |ae 718
B o

(A) 38! T F Wiud

(B) 1 TA.UW.

(C) 2 TAU.

(D) 3 TAUG.

frferRa friRamell § o9 ¥ Frfew
PR 9aR AiE & /7 §°

Empno -> EName qad Deptno,

DName

fomT 9= ->S U,

Emp No -> DName

(A) Ol HRITHS e
(B) NG s FRar
(C) \oHd foharerd friRan
(D) (B) 3R (C)ar
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88. A functional dependency is a 88. UH PG fARar & < I & 919
relationship between or among: TH HY B
(A) Entities (A) WU
(B) Rows (B) dfaal
(C) Attributes (©) U
(D) Tables (D) <d
89.  Entity is a: 89. AR T
(A) Object of relation (A) WEg Bl ]
(B) Present working model (B) IH HHBIST AT
(C) Thing in real world (C) IRafd® g H 9
(D) Model of relation (D) WEY BT Hied
90. An ___ is a set of entities of  90. Ud U & YR DI WA $T U FE
the same type thatshare the same g ol 9 Tor, a1 fQma Am=m axd
properties, or attributes. 2l
(A) Entity set (A) 3BE W
(B) Attribute set (B) ICELGIR
(C) Relation set (C) ¥y Je
(D) Entity model (D) TPrE Al
91. OLAP stands for: 91. OLAP &I #deld &
(A) Online analytical processing (A) 3Tl fATISUTHG JRIRHROT
(B) Online analysis processing (B) 3ifTelg favelsor IRamoT
(C) Online transaction processing (C) 3ITelTST oia THwhNU]
(D) Online aggregate processing (D) 3fFersa el TEEHI0]
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92.  What do data warehouses support? 92. ST TRERH T FHIT R 2°
(A) OLAP (A) MTATY
(B) OLTP B) ST
(C) OLAP and OLTP (C) 3NTATU. 3R MTAIW,
(D) Operational databases (D) RaTEH S|
93. Ranking of queries is done by  93. U @I b 9 § ¥ fhdd g™ @
which of the following? NInIE
(A) Group by (A) WYe gnrT
(B) Order by (B) gX1 3T
(C) Having (©) 2N
(D) Both (A) and (B) (D) (ARIR (B)aHf
94, will undo all statements up ~ 94.  Ufieg &= @ forg I HoFl @ qﬁ‘clﬁ
to commit? P TP
(A) Transaction (A) RGLE]
(B) Flashback (B) Sord
(C) Rollback ©)
(D) Abort
(D) Abort
95. A transaction completes its  95. U® oM—<¢d AU fEEH Bl T ol
execution is said to be: 2 el Ol &
(A) Committed (A) TR
(B) Aborted ®) P
(C) Rolled back
(C) dIud fed Tl
(D) Failed
(D) fdwel
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96. In order to maintain the 96. oFed & TR [ANANAl U Y@ B
consistency during transactions o S99 YeH XA &
database provides: (A) TREE
(A) Commit
(B) WA
(B) Atomic
(C) Tl
(C) Flashback
. D N[
(D) Retain (D) 9
97. In case of any shut down during 97. Ufeg &9 ¥ U oFed & SR fhl
transaction before commit which M vC TS & "l § fEfoRag §
of the following statement is done A S w7 B o
automatically?
’ ¥
(A) View
(A)
(B) Commit
(B) viddag
(C) Rollback
(D) Flashback ©
(D) FeleTd
98. A consists of sequence  98. A TR SR/ 3UST
of query and/or update statements. THT BT U Y Bl 2|
(A) Transaction (A) S
(B) Commit
(B) Wfdag
(C) Rollback
(C) Icfd
(D) Flashback
(D) FeleTd
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99.  Update instructor 99. 3T URED
salary = salary * 1.05; qq = 90 * 1.05;
Fill in with correct keyword to $qeX Rele™ @l use o)1 & foru
update the instructor-relation. el Plas |
(A) Where (A) gl
(B) Set (B) Wc
(C) In (C) g
(D) Select (D) T
100. Delete from r where P; 100. r ¥ g gl P;
The above command IRIGT 3
(A) Deletes a particular tuple (A) G A e R v @I ger
from the relation .
(B) N4 ger §
(B) Deletes the relation N _
(C) W& | W yfaficdl &1 A%
(C) Clears all entries from the
. ERGIRS
relation
(D) All of the mentioned (D) ¥ Sfetf
Xhkdkhx
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to

the Examiner before leaving the examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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